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ERRAEEERE
20204 12 B
Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.007 - 0.034 0.018 &
LA i 1.512 0.039 - 0.466 0.082 =
/L&, (HCI) 4.545 0.005 - 0.305 0.202 =
mIbE (HF) 0.306 0.007 - 0.109 0.047 =
— &b (SO2) 15.147 0.006 - 8.146 2.184 =
—4&bi% (CO) 7.578 0.000 - 0.228 0.082 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.529 - 14.484 2.076 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.012 - 0.022 0.018 &
LA 0.756 0.047 - 0.151 0.082 =
/L4, (HCD 0.756 0.155 - 0.256 0.201 =
wAbE (HF) 0.072 0.037 - 0.056 0.047 =
— &b (SO2) 3.789 1.695 - 2.528 2.184 =
—&Ei% (CO) 3.789 0.030 - 0.139 0.082 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.985 - 4.691 2.093 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0052 &
IR R g ) 7.575 x 107 <5.794 x 1010 =
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Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.038 0.004 &
LA i 1.512 0.000 - 0.566 0.084 =
/L4, (HCI) 4,545 0.012 - 0.396 0.253 =
mIbE (HF) 0.306 0.000 - 0.078 0.035 s
— &b (SO2) 15.147 0.378 - 3.287 2.154 =
—4&bi% (CO) 7.578 0.000 - 0.269 0.039 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.336 - 5.138 1.484 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.002 - 0.009 0.004 &
LA 0.756 0.035 - 0.169 0.084 =
#F/bE (HCI) 0.756 0.075 - 0.313 0.252 s
wAbE (HF) 0.072 0.023 - 0.047 0.035 s
—&AbiR (SO2) 3.789 1.902 - 2.333 2.156 =
—&Ei% (CO) 3.789 0.005 - 0.134 0.039 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.730 - 2.315 1.479 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0052 &
IR R g ) 7.575 x 10°° <5.906 x 1020 &
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Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.001 - 0.033 0.002 &
LA i 1.512 0.010 - 0.511 0.060 =
/L4, (HCI) 4.545 0.006 - 0.232 0.131 =
mIbE (HF) 0.306 0.005 - 0.071 0.031 s
— &b (SO2) 15.147 0.023 - 5.266 1.914 =
—4&bi% (CO) 7.578 0.001 - 0.095 0.044 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.618 - 12.681 2.051 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.001 - 0.003 0.002 &
LA 0.756 0.035 - 0.262 0.065 =
Z/LE (HCI) 0.756 0.102 - 0.185 0.130 s
wAbE (HF) 0.072 0.020 - 0.040 0.031 s
— &b (SO2) 3.789 1.632 - 2.053 1.910 =
—&Ei% (CO) 3.789 0.019 - 0.083 0.045 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.814 - 3.658 2.028 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0058 &
IR R g ) 7.575 x 107 <6.497 x 1010 =
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Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.091 0.007 &
LA i 1.512 0.014 - 0.160 0.056 =
/L4, (HCI) 4,545 0.000 - 0.187 0.100 =
mIbE (HF) 0.306 0.004 - 0.067 0.035 =
— &b (SO2) 15.147 0.000 - 3.285 1.596 =
—4&bi% (CO) 7.578 0.004 - 0.167 0.051 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.573 - 10.843 1.327 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.005 - 0.012 0.007 &
LA 0.756 0.021 - 0.083 0.055 =
ZF/bE (HCI) 0.756 0.058 - 0.137 0.099 s
wAbE (HF) 0.072 0.026 - 0.039 0.035 s
— &b (SO2) 3.789 1.202 - 1.962 1.601 =
—&Ei% (CO) 3.789 0.032 - 0.078 0.051 =
HAY (NOx)
DL E/EE (NOY) 15.147 0.733 - 2.115 1.347 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0051 &
IR R g ) 7.575x 10°° <5.642 x 1010 =
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